
I3xitda=

I3xitda=



E

bit



Check your understanding



Buthow totell with?
no picture...

Area=TOP-Bot
=J, f(x) dx -(, g(x) dre (if fzg)

Solve

⑪ f()
=g(n)

to find

interval
inpoints of

intersection

② testeach









o u

C
See,

Ex I udvIs?Since

1BP5Ox =ur-Sudu

↳avd=2. Since - sincee
=Usiase- (-coss +C
=aSine +coss + Ce



Judo: U.r_Su du
EX2 ⑧

⑧
- d.(e)-f-e 1dn
--xe-+fe" da

Doeee3 =- xe*-e-+c

Judr+Sudn=uv -Idu

Sudw =no-Sudu ↓ ↓-
EX.3 b =(sinn(x) - Ja I de-- 1 - x2

-

-
=xsin() +Ifdu
prodrule=xSits+.ZF

CHAIN.Mr +c
=xsin"(n)+

1 -Edu =xdx)
1-x2 +C



Judo: U.r_Su du
EX2
-

⑧
- d.(e)-f-e 1dn
--xe-+fe" da

Doeee3 =- xe*-e-+c
-

- F(x)

Ez
=-xe*-ein)*
=F(4) - F(0)

Eee*Free
in



Ex5.

⑪BotinDu-sus?e
IBP Box?

② dr duBo
IBP BOX?

⑬deconten



Ex5.
=A

??⑪BornUsub settinC
=

&
/Sincecossda =J u du=Eur+

=ISine +2

* =x. srn-fisine de
=Sins_() da

1-2sirs= cos(2x)
-

=Esinix - ) I-coside
sitra:=asinin-iso'sSinest



The difficult ones

I wrap around

I

* do IBP trice

E

EX4
enen-nar"Inse

·Y

eBoxdreee =lee--tens)I ???

=e-1? 1 da F(e)- f(i)
↑same ↓d
bot
=e - x)

=e - (e -1)
=1El end de y ↳

F(b) -F(a)

=Inx-Jan de
=alux-(12x =xlax - x +2



Ext. inhow
to paraet

/BP BOX

Istamp =ae-Jer are
=xer_ (Zach an
-aduee dar-Sude

=- ere*-(ze"(u))
I ne"-ixe +2e+




